25.

26.

27.

2-i
a- 21)
If |7 | =|z,|. is it necessary that z = z)?

What 1s the conjugate of .

(@®+1)? ,
T = x + iy, what is the value of ¥ + y??
] . Sn
Fmdzxf|z|=4andarg(z S
- (2+1)
Find 0+')(3+i)

Find principal argument of (1 +7,/3 ).
z-5i

z+5i

Where does z lie, if =1




33.

4.

35.

36.

37.

38.

39.

3 smx +/cos 2x and cos x — / sin 2x are conjugate to each other for:

(A) x=nx B) x=(n+%]-§-

(C) x=0 (D) No value of x

o real valkin of o i ahioh the S O e
14+ Jsna

@) (n+1)7 ®) @n+1) 3

(C) n= (D) None of these, where n €N

If z= x + iy hes m the third quadrant, then :‘:: also lies i the third quadrant if

(A) x>y>0 (B) x<y<0
(C) y<x<0 (D) y>x>0
The value of (z + 3) (T + 3) 1s equivalent to
@ [z+3f ®) |3
(C) 2+3 (D) None of these
(12 =10

1-i
(A) x=2n+1 (B) x=4n
(C) x=2n (D) x=4n+ 1, wheren eN
A real value of x sansfies the equation ( 3: 4“) =a-ip (@,peR)
ifq’ﬁ-ﬁ’:
(A) 1 (B) -1 © 2 (D) -2
Which of the following 1s correct for any two complex numbers z, and z,?
(A) |z23] === (B) arg (z,z) = arg (z,). arg (z)
©) |5+z|=[al+] @) |5+3|2 5[]

The pomnt represented by the complex number 2 - 1 1s rotated about ongin through



40,

41.

41,

44.

45.

46.

mam:#%iu&r:nhdmisrdh:cﬁw.ﬂnmpuﬁﬁmufpﬂnﬁs:

(C) the y-axis

If z 15 a complex number, then

@ [
© |?|<ld

|2+ 24| =|z| +| ;| 15 possible if

{A) =3
(C) arg(z)=arg ()

The real value of 8 for whach the expression

{ﬂ] i) -I-;

(©) Imrt%

The value of arg (x) when x < 01s:

(A) 0

(A) 1+24 (B) -1-2 (C) 2+i (D) -1+21
Letx, y € R, then x + iy 15 a non real complex number 1f:
(A) x=0 (B) y=0 (C) x=0 (D) y =0
Ifa+ib=c+id then
{A) a?+ci=0 (B) B*+c2=0
(C) P+df=0 D) a?+P=2+4
- The complex number = whach satisfies the condition ':f = 1 lies on
(A) arclex?+y=1 (B) the x-axis

(D) thelmex+y=1.

(D) |:l|- |::|
1+ icosB

1- 2 cosB
B) m:+|{—]]"§

(D) none of these.

(B) 3

15 a real number 1s:



